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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1.
» Anything times5 HASto end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in aO. Ex. 10x7=70 10x16=160 3.
\ /
4.
1) 2x874=1,748 2) 840 x 10 = 8,402
5.
3) 2x805=1,610 4) 10x278=2,781 6.
7.
5 5x434=2174 6) 2x733=1,467
8.
7) 461 x5=2305 8) 10 x 539 =5,390 9.
10.
9) 506 x 10 = 5,068 10) 2x109=219
11.
11) 5x 656 = 3,282 12) 10x531=5,310 12
13.
13) 871 x5=4,359 14) 2x972=1,944 u
15.
15) 529 x 2=1,058 16) 10 x 375=23,750
16.
17) 5x 686 = 3,430 18) 923 x5=4,615 17,
18.
19) 5x 726 =3,630 20) 329 x 2=659
19.
20.
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Determining Reasonable Answer Name: Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 N
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 YES
» Anything times5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. no
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10 x 16 =160 3. YES
L J
4. no
1) 2x874=1,748 2) 840 x 10 = 8,402
5. no
3) 2x805=1,610 4) 10x278=2,781 6 no
7. Yes
5) 5x434=2174 6) 2x 733=1,467
8. YES
7) 461 x5=2,305 8) 10 x 539 =5,390 9. no
10. no
9) 506 x 10 = 5,068 10) 2x109=219
11. no
11) 5x 656 = 3,282 12) 10x 531 =5,310 12 yes
13. no
13) 871 x5=4,359 14) 2x972=1,944
) ) 14, Y€ES
15. YES
15) 529 x 2=1,058 16) 10x 375=3,750
16. YES
17) 5x686=3,430 18) 923x5=4,615 17 yes
18. YES
19) 5x 726 = 3,630 20) 329 x 2 =659
19. YES
20. no
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